TAVOLA DEI NUCLEI ATOMICI isobari

configurazione dei livelli nucleari degli isobari con A =74
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o564 Fe;z B 26N 240 0+4 049 0+44 143 141 0+l nﬂff%
6B 514 COZ;1 B2  2YN 240 442 049 0+5 043 140 0+l %
629 665 Niz;1 Busle D8N 240 6+1 049 047 1+41 040 140 %
6L 0 Cuz;1 B8 20N 240 8+0 049 1+7 140 140 040 ;Z%
638 594 Zn; s 30N 240 8+0 6+6 0+8 0+0 0+0 040 %
0812 Gaz 2213 31N 240 8+0 85 1+7 040 0+0 040 ;Z%
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$9L.355 Krzz B 36N 2:0 8:10 18:0 440 112 140 0:0
2051 Rb;1 Loes 37N 210 810 1740 240 6:0 240 0+0 — =
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